PLATE ACCELERATOR

ES Elevador Placas DE Auswerferplatten-Beschleuniger
IT Accelleratore Piastra Espulsione PT Acelerador de Chapa FR Accélérateur Batterie d’Ejection

@ Cad Insertion Point

Ofzx0] :

[=]

P
DIN 6325

Mat. 1.2842
Hardened 52+2 HRC

Mat. 1.3505
Hardened 58+2 HRC

Mat. 1.0503 i R163

_-ﬂ-ﬂﬂ--n““- Max.Forc

EP.200813 20 132 258 11.4 11.6 15 02.5x10 M3x12 125 kg.
EP.251016 25 10 16 323 118 143 7 15 5.7 6 185 03x12 M4x16 250 kg.
EP371522 375 15 22 485 177 215 105 235 9.1 8 25 04x16 M6x25 350 kg.
EP.502030 50 20 30 646 236 286 14 32 12.5 10 34 05x20 M8x30 800 kg.

Installation Guidelines
Consejos de Instalacion - Richtlinien zur Installation - Consigli di Installazione - Instrucdes de Instalagdo- Mode d’Installation

-

Mechanical
top

H 1

[
!
i
\
[
\
[
\
[
\
[
\
[
[l

e

.

|

®

IMPORTANT




